(Unlike Denomino’rors)

Name:
(Mixed Number Subtraction)
a. 1 1 d. At the farmer's market, Lang
12— - /— = bought 3% pounds of broccoli

and 2% pounds of carrots. How
many more pounds of broccoli
did Lane buy than carrots?

Show your work.

b. Subfract 3= from 6= .

Preview

Please log in to download
the printable version of this worksheet.

c ICTTUcCe drid Az
bags of iceberg lettuce. How
many more bags of iceberg
lettuce did Jaliyah use than
romaine lettuce?

Show your work.

answer.
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ANSWER KEY

(Unlike Denomino’rors)

-

o

Mixed Number Subiraction)

answer:

d.

3 e |
Pledse log

printable ver

At the formers market, Lang
bough’r 3% = pounds of broccoli
and 2+ 2 pounds of carrots. How

ale of v o a1

KH

Super Teacher Worksheets - www.superteacherworksheets.com



